Business Statistics - 2012

Note: Attempt all question,

Q.1

Section-A

Select the corvect answer: (any five)

e fasbew gy (Frd o)

(i)

(1)

(iii)

“Statistics is a science of counting.” by whom this definition is
given?

(a) Boddingtom (b) Bowley (c¢)Parretto  (d) Croxton
g TR @ fagE 1 e & 82

@A @d € @ @R
What is prepare by government with the help of data ?

{a) Budget  (b)Province (c)Money  (d)Officer

AMHS F TEAA ¥ TR FAT TR FEl &2
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If the median of 3, 4, x, 8 is 5 then the value of x will be:

(a) 3 (b)4 (c)s (d)6

A 3,4, x, 8 F TR 5 & A x HAA AT

(303 (@4 (s @6
(iv)  Geometric Mean of4, 8, 16,32,64 is:

@38 (b) 16 {0)32 (d) 64
4,8, 16,32, 64 F oNCR 5 &1
. (38 - 16 () 32 (@) 64
(v) HN=10, x =60, 5,2 =1,000 then standard deviation will be:
' (2)8 ()12 ©)6 {d) 100
I N =10, gx =60. 5,2 = 1,000 A A fa=a= il
(#)8 (#) 12 e (R 100
(vi)  25th Percentile is:
(a) Qs by Q (¢) D, (d) None of these.
eITgE] SanE gl 2
@ Qy @ Q (¥) D, (@) T
(vi))  Which 1s not following comsidered in Karl peason’s coefficient of
skewness?

(a) Mean {(b) Mode {¢) Median  (d) Mean Devigtion
forad w1 fawrmer 7o fr § | forget @ 7@ & 2
@EHTE @ YfIes. (@EEE (%) T faEer

(vii}  Generally r is significant:
(a) When ris twice P.E, (b) Whenr is three times P.E.
(c)Whenris6timesP.E.  (d)Whenrisd times P.E.

TRy gdE g 8
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Section-B (Short Answer Type Questions)

: Attempt any three questions.

Throw the some light on the importance of planning is statistical investi-

gation.

T g9 & 9957 @ Taes W 9w Sy

What is Primary and Secondary data? Comparision it.

WefiF U fgdtas gus R Fad 82 god Sy

On the basis of following unequal class-intervals, calculate mean:
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g (adl )

Age (Years) 1821 2225 26-35 3645 46-55

sl i & :

No. of Persons 8 32 R 36 20

Q.5. Explain the characteristics of an inded measurement of dispersion.
RO 3 EE AT S v FaTEe

Q.6. Explain simple, partial and multiple correlation.
W, A qq TGN TEEE H AR
Section-C (Long Answer Type Questions)
Note: Attempt any three questions.
Q.7. Define statistics. Discuss its causes of distrust and scope.

gifegs & ot f 9% 99 @ Afavary & FRO & g0
R
Q.8. Put the following details of marks by 40 students of a degree college m
the form of frequency distribution with a difference of 10 in (a) Exclusive
series, and (b) Inclusive series:
i o U ReIfaenerd & 40 faenfedl g Wi si § wEd €
10 3T ¥ 3T F T (31) TaSH Ao, TG (F) GAE A0 T=wH |
Wi 3 100 % 9
Marks obtained out of 100 marks
53 15 48 40 42 46 62 75 60
9% 8 73 38 27 20 0 97 67
19 55 58 77 = 62 71 0 8
a3 N0 88 06 PA] o7 o 54 8
Q.9. Find arithmetic mean, median and mode from the following data:

frfefigd el ¥ Q=R 1, Aifega agr gfivss wd S

TaE (F) 8 0 0 60 S0 40 30 20 10
Marks (Less than)

BrEt @ e 100 % 8 €@ 2 20 13 5

No. of Students

Q.10. Calculate Karl Prearson's co-efficient of Skewness from the following
data:

frt grolt @ st o= @ fawser one W A

Idm(@AMFE) O 0 20 30 40 O 6O 0V &
Marks (above)

KRIN

-3

SR R TS0 140 100 & & M 30 4 0

No. of Student '
Q.11. Find the co-efficient of correlation from the following data:

frafafas ava ¥ Ye-gry UiE Fid Hi
300 350 400 450 500 S50 600 650 700
800 900 1000 1100 1200 1300 1400 1500 1600
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